/DVIRB

*UXSD 5R]NiDG 537 - 7\J
o 7N 7N
o (NRQRPIND SUJHGVICEIRWIZ Z 1DIDID OHIHIHQNR = 53/ - - RRUG\QDFID ]DVREyZ JRVSRGDUF]\FK IlUP\ 1DIDID OHIHHQNR = 53/ -
7N 7N 7N 7N 7\6]
v ) B SDFKXQNRZRG( SRGDINRZD
WRNICI\NRZ\ 5,3 / 3RGDIHN RG IRZDUyZ | SDFKXQNRZRG ) SDFKXQHN NRVIYZ Z 8 1 =DU GU .XU]DN ODEURXN
- XViXJ GU GE\V] SRGDINRZD =DU SUEDE UEDEVND .DPUD =% SDFKXQNR $QQD =% 53/
$HNVDQGHU =% VND .DPUD =% 53/ - ZRGi -
53/ = 53/ = SRGDINRZD
7N zDU 8IE
DEVND
SDFKXQNRZRG -DPUD =%
SRGDINRZD =DU GU 53/
_XUJDN ODEURXN $Q0D = | >
% 53/ - -
=z
I
= 7\6]
ﬁ SDFKXQHN
NRV]lyZ
Z "8UEDE
VND
_DPUD =%
53/
7N
SDFKXQNRZRG
SRGDINRZD =DU Gl
_XU]DN ODEURXN $QQD =
% 53/ =
7N 7N 7N
6HPIQDUXP 3URI 2VIDVIHZIF] = DIHON =%
3RGDIN. GRFKRGRZH Z 53/ = SDFKXQHN NRV]lyZ (2
G]LD{DIQRGF. ‘ " = RIQD %HDID =%
9 JRVSRGDUF]HI GU ZNJIREQX _ JDICFD 53/ =
& = \VRJIaG ODJGDIHQD = ~
2 % 53/ =
6HPLQDUXP SIRI ]Z Gl
KDE *XPLEVND 3DZ0IF
-DGZLID =%
53/ -
7\6] 7\6] 7N 7N 7N 7N 7N
> (NRQRPIND _RRUG\QDFID JDVREYZ v )
= SUJHGVICEIRWIZ Z 1DID| |JRVSRGDUFT\FK IUP\ 1DI RN IC]\NRZ\ =% 37z, GJOW]FI\EWN. SSIRVIFIRQH IRIPA SSIRVIFIRQH IRIPA ZHFKQIN. QHIRFIDFIL PJU
= D OHIHIHQNR = DID OHIHHQNR = .20387(52:$ 5\V]DIG =% NVICIRZH PJU*CEND NVICIRZH PJU*CEND =DIaFINRZVN. $GDP =%
a 53/ = 53/ = 53/ = .20387(52:$ _DURIQD $% _DURILQD =% 53/ -
N 53/ = .20387(52:$ .20387(52:$
I 53/ = 53/ =
=DICFIDZ  INJRGQIX




/DVIRB

*UXSD 5R]NiDG 53/ - 7\J
7N
Z 7HFKQINL QHIRFIDFLL GZ
= PJU =DIaF]NRZVNL $GDP
[ =0
'lll‘ .20387(52:$
o 53/ -
IDICFD Z  INJRGQLX
= 7N 7N
o - RRUG\QDFID JDVREYZ JRVSRGDUFT\FK [P\ 1DIDID OHIHHONR = 53/ = (NRQRPIND SUTHGVICERIVIZ Z 1DIDID OHIHIHQNR = 53/ =
[a e
©
3




